
example: 12x --  4y = 36

12x --  4 (0) = 36
12x = 36

12(0) --  4y = 36
-- 4y = 36

y = --9
(0,--9)

(0,--9)

x =  3
(3,0)

(3,0)___________

___________________

___________________

___________

___________________

___________________

Name: _________________________________________________
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Find both the x-intercept and y-intercept. Then plot both points on the graph and draw a 
line that runs through both points.

1.

2.

3x  -- 2y = -- 12

-- 4x + 3y  = 24
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5.

4.

3. 5x + 2y  = 20

-- 2x + y  = 8

9x + 15y  = 45

x - intercept:

x - intercept:

x - intercept:

y - intercept:

y - intercept:

y - intercept:
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ANSWER KEY

KH

__________________ __________________

__________________ __________________

__________________

__________________ __________________

__________________ __________________

__________________

1. 2.

3. 4.

5.

3x  -- 2y = -- 12 -- 4x + 3y  = 24

5x + 2y  = 20 -- 2x + y  = 8

9x + 15y  = 45

x - intercept: x - intercept:

x - intercept: x - intercept:

x - intercept:

y - intercept: y - intercept:

y - intercept: y - intercept:

y - intercept:

(--4,0) (--6,0)

(4,0) (--4,0)

(5,0)

(0,6) (0,8)

(0,10) (0,8)

(0,3)
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